

Stars: Quiz




SOLUTIONS
1. Betelgeuse is 650l.y. away.

How many parcecs is this? 
650/3.26 = 199pc
2. Bellatrix is 75pc away, how many light years is this? 
75pc x 3.26= 244.5 l.y.

3. The Sun is at a distance of 8.5 kiloparsecs from the centre of the Milky Way system. 

How many light years is this? 

1 kiloparsec = 1,000 parsecs
8.5 kpc = 8500 pc

8500 x 3.26 = 27710 l.y.
4. If the speed of light is 3 x 108 m/s, how far does light travel in:
Give your answer in scientific notation correct to 2 decimal places.
i) 1 second

3 x 108 m or 3 x 105 km
ii) 1 minute

3 x 108 m/s x 60 sec = 1.8 x 1010 m or 1.8 x 107 km
iii) 1 year (in units of km)
3 x 108 / 1000 = kms/s

3x105 x 60 (km/min) x 60 (km/hr) x 24 (km/day) x 365 (km/year)

=9.5 x 1012 km
5. Contrast the terms absolute magnitude and apparent magnitude 

Absolute magnitude is a measure of the amount of light produced by a star if it was 10pm from Earth.
Apparent magnitude is a measure of how bright a star appears to an observer on Earth.
